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1-1. P5H&EHD

(1) BT LT

a) =27 U — b HuE (Bk5)

V1l =

b) KHPARGEEM: =27 ) — b (0 ck=24N/mm2)

V1l = 0.30 * 0.50 * 3.60 -
w % 0.15 % 0.15 % 0.3 * 3

Al

(0.50 + 0.35 * 2) * 3.60 + 0.35 * 0.50 * 2 —
% 0.15 % 0.15 * 3

d) &% (SD345)

SXAE = % (SD345) (&4 1Y)
] # R & L HuKE | -FLYHEE 8 B ZE
H o D13 3400 4] 0.995 3.38 14
Wi D13 210 4] 0.995 0.20 1 |—
Hois D13 920 4] 0.995 0.92 4 |—
o D13 670 36| 0.995 0.67 24 |CT
43kg
$ 1 ‘ D13 ‘ 200‘ 24‘ 0,995‘ 0.20 § |=—
5kg
4 & 013 48 kg D13
BEE 48 kg
e) HIFLT
¢ 16 1L=100
N = 4 % 2 % 3
£) MR
N = 2+3+3+2

0.00 m3

0.48 m3

4.46 m2

48 kg

24 FEPT

10 & AT



1-2. PG
(1) BT LT
a) =227V — b HUEE (8kAH)

V1l = 0.30 * 0.50 * 3.60 -
r % 0.15 % 0.15 % 0.3 * 3 -
0.3 % 0.65 * 0.4 * 2 -
0.3 *x 0.1 0.1 %2~
0.1 * 0.4 * 0.15 = 0.31 m3

b) KHFARGEEM: =27 ) — b (0 ck=24N/mm2)

Vi = 0.30 % 0.50 * 3.60 —
mr % 0.15 % 0.16 * 0.3 * 3 = 0.48 m3
c) B H
Al = (0.50 + 0.35 * 2) * 3.60 + 0.35 * 0.50 * 2 —

% 0.15 % 0.15 * 3 = 4.46 m2

d) &% (SD345)

535 E = % (SD345) EET)
| 8 £ & A% | BHEE | -A4YEE 0 S
Ho D13 3400 4 0.995 3.38 14
H o D13 210 4 0.995 0.20 1=
H o D13 920 4 0.995 0.92 4 |=——
[IEIRIE 670 36] 0995 0.67 u |C
43kg
§ \ D13 \ zoo\ 24\ 0995\ 0.20 5 |—
5ke
& & DI 48 ke D13 W = 48 kg
BEE 48 ke
e) HIFLT
¢ 16 L=100
N = 4 % 2 % 3 = 24 &P
£) Y RT

N = 2+3+3+2 = 10 & AT



